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Instructions for filling up the O.M.R Answer Sheet

1. Use only blue/black ball pen for filliing Roll Number, Question Booklet Serial
No., Course Code and Category in the space provided for this purpose.
2. For filling the answer, you may use blue/ black ball pen or HB Pencil. Fill the

circle of your choice as shown under. If the correct answer is B, darken the full
circle.

Right Method Wrong Method
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ENVIRONMENTAL STUDIES

When animals have long period of sleep to survive a cold and dangerous

winter, they go for

(@) Migration (b) Hibernation

(c) Vacation &Y Revolution

W€ AW B 3T AR GAE 6o} a9t B fw aer st @ s ot & ar A

------ % forg = o &)
@) vame (b) EEare (9 fem)
(€) SEFw 4 T
N30 et L e Uysp S oty A prsdlo
AL (b (of
y S (@ 5% ©
2. Seed stores the food for baby plant in
£7 Seed coat (b) Seed leaves (Cotyledons)
(c) Embryo (d) Plumule
4 78 N % g 9o B § FRg @
(ﬁ’f g9 B S T (b) &9 & T
(c) g (Embryo) (d) <@
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SN IPL L g &S &

JKE  (b) kG S
Jrd (D) o (0
3 Which of the these would change water to water vapour?
(a) Evaporation (b) Condensation
(¢) Precipitation (d) Collection
=i § P T@ B A AT F Fed QM
(@) arsfiHTer (b) ., W&
(c) @& () e
Sh_ S st S Qe i
Condensation. (b). Evaporation (a)
G5 (D ST C)

4.  Which of the following states of matter would not change shape if it was

placed in a jar?

(a) Liquid (b) Gas

(c) Solid (@ All of these

Prefefad & & R orgedm & qarel @ UF AR F W@ W IFHT SAHR A6 LA ?
(@) =@ (b) &

(c) o @y T
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5.  Growing children like you need more
(a) Carbohydrates
(b) Fats
s Proteins
(d) Vitamins
Y A o T4 B AR .
(@) wrEESE
P
=
(d) foefe
UL ne B T
o Wk ()
deg  (b)
uf:{ (c)
St (d)
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Atmosphere contains maximum amount of
(3)  Nitrogen

ﬂr)/ Oxygen

(¢)  Carbon dioxide

(d) Argon

Wﬁww-w«a&a@wwé?ﬂﬁn
@) e

Aoy sitwdior
(©) =7 =¥ sifeee
d) st

-‘L&nﬂﬁ/u&jJ ............. J:(Atmosphere)u).

St (a)
FT oy
YT 1506 (c)

ST @

7. A method used for preserving chillies:

(@) Boiling &7 Drying
(c) Canning (d) Salting
ﬁa‘aﬁmma‘?ﬁmsﬁwa&aﬁaﬁﬁﬁfﬁ%n
() waEEn (b ar

(c) =z@r &t (d) o s
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~e Al e L L S,
vy (a)
LSBT
gt (o)
(ot (d)
8. Inasolution of sugar and water, what is solute?
(@) Sugar
(b) Water
(c) Salt

(ﬂ{ None of these

e WHQ

(c) =&

@ A

te i (Solute) JUA (s HUAL S GF
8 )

3

Z©

Sy @

CODE No. S06/SET-A (7)



10.

The process by which a new product is produced from waste material is called

(a) Reducing W Reusing

(¢) Recycling (d) Recurring

e ufthar Rred srafire weret & we o sae daw fear amr & o w2
(@)  @% ®ww (Reducing) &) 1 swrr (Reusing)

() T = (Recycling) (d) et

--------------------- <l dla ngab:""&c. (waste material)sls*oK ¢ z._’,.u'é U)Jfﬂ’

-t
LSt Lo ()
tle s/ bndls o (d) LS (0
Organisms which feed on decaying matter.
@ Herbivores (b) Carnivores
(c) Omnivores (d) Decomposers"
TS YT HE@H e A gl

(@~ gmarerdt (Herbivores) (b) wrEErr (Carnivores)
(c) wafer&r (Omnivores) (d) s=esw (Decomposers)

& 2tk

#e2f (b) )
Decomposer (d) WUty netd (O
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11. Removal of top layer of soil is called

(a) Soil conservation _AbY Soil erosion
(¢) Soil profile (d) Soil protection
T B FIA WA HT &I HEATAT & |
S/ GRS by e e
(c) T Qi (d) e geam
-é-t'u‘i'( ...................... %Kjd{,l({(jy
RS Sk n
=S (d) J/G;{KJ’ (c)
12. is caused by the deficiency of vitamin A.
(@) Night blindness () BeriBeri
(c) Scurvy (d) Goitre
fafm A Sia@Hr F 8k g |
(@) el (b] T
(c) wpdt (d) e
-c"_t'ﬁcg)JJJg,! 07—
O//:'d/:' ()5 uﬁ’:'c;b (a)
& (@ HF©
13.  Unwanted plants grow with crops and Compete for nutrients.
(@) Weed (b) Stalk
jé Compost (d) Pest P.T.0.
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S oraifea W St @ T I ¥ ol ds awit & for gfves B E
(@) wWWdEEarR (Weed)

(b) ==& (Stalk)

/(Z)/ FTIRZ (Compost)
(d) == (Pest)

-c"..t/é@cupg_ﬁf'ilé’ﬁmg_mjl/[.u}‘.’b{,agi‘ébz
ﬂ (b) /’):4/ (a)
4.1‘;4-2/ (d) u‘/)..f /(")/

14. Ozone layer protect us from

(a) Laserrays (b) Cosmicrays

(c) UVrays @ All of these

o T & ¥ FEt 21

(a) @i fezom (b) et fRor

(c) UTISTHL feheor (" == & i

-9.3[{; .............................. AN
Ui led  (b) Ui (a)
ey VAUV (O)
15.  Which scale is used to measure the intensity of Earthquake?
(a) Rulerscale (b) Richter scale
(c) Barometer scale (d) Odometer
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(a) ww &
(b) @
(it @
d) serhe @

te b Lofd L tfet$L V)

S (a)
% (b)
Sy
sl (d)

16. Which of the following plant is an insect eating plant?
(a) Pitcher plant (b) Cotton plant
(c) Bamboo plant /Qd)/ Hibiscus plant
Pt & & S-ar_grem e @ arar qre 87
(@) dier drem (b) U & Gy
(c) dfa @ drer @ e @ dn
?4". b{le)L We kfbg Vui/:_, Ja J-' 3204
by (b) (Pitcher plant)iye_ A ()
_ ke G WG,

Co
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17. Tick the correct sequence for digestive system.

Mouth —>Food pipe —* Stomach —> Small intestine —> Large
'
intestine — Rectum —> Anus
(b) Mouth —> Food Pipe —> Stomach — Small intestine —> Large
intestine —> Apus — > Rectum
() Mouth — Food pipe —* Stomach —> Large intestine —> Small
intestine — Rectum —> Anus

d.  Mouth —> Food pipe — Stefflach. —=> Large intestine —> Small

intestine —> Anus —> Rectum

?ﬁ*ﬂwwaﬁ—*mm@z) —> B afig —> 9 @ —>

FARE ~—> T

(b) He —> sem T —> s () —> O swiw —> @ qa >
T —> JdRE

(€ dF —> s T —> o () —>ad iw —> o ma —>
AL I

(d) HE —> ¥ew T —> o () —> T ofiw —> B wiw >

T > WA
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Anus«————ff*—‘h/' Sse— d N — J’Jd_.laré—a/

Rectum<——Anus<——uH5/<—uld}"’<—-—w»<—— J’JLV( «—2 (b)

»

Anus «—(Je— 108 «— o T§Y% a2 — J’JLU&(<——/ (c)

Rectum+-—Anus<——c>’|’L})‘f — TS Y 0 — JL/(/_J; —2 (d)

18. Global warming is caused by the excess of which type of gas?

(a) Nitrogen (b) Oxygen
(c) Hydrogen /«() Carbon dioxide
Totae AT fhe A @ tftresar & T S 22

(@) A (b) e

(© wE e Gt s

%.&nc&:},)g{d{fl&ﬂ:&f
1) ) Pt (a)

oS
f&’u/ﬂj’}cﬂ/( w/ Jux, (o)

19.  Which of the following seeds dispersed by wind?

- (@) Coconut (b) Bean
(¢) Guava (dy Cotton
Pt & & @ o sar & fawwar &7
(@) fRaw (b) &w
© o (e
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(b) ' J- 4 (a)
v k( ,(d)/ (0
20. Only of the water on Earth is fresh water.
@ 2% (b) 3%
{ 5% W%
W A T R # arn (E)

@ 2% (b) 3%
4{( 5% d 10

X

3%
21. Which of the follo en soil?
(@) Manuri
(b) Ha
Sﬂ/ Ploughi

(d) Irrigation
frfafaa & 2 et &t dem & | weasd 87
(a) Qe BT

©Hd STATAT

{mm

(d) e wen
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Se bt S e sty
Uisd (a)
1 (b)
IO

S T (d)
22. Snakes hear through

94 Vibration (b) Smell
(c) Sound (d) Earth
st & e & T E
LIS (b) “arer
'/(c) ety (d)" ge=ft
P IL i il

4 () i’ 7

s (d) T (o)

23.  When we go up into the sky, the atmospheric pressure will-

(@) Increase (b) Decrease

(c) Remain same (d) None of these

mmmﬁmmﬁ%ﬁawﬁum-m——m- |

(@) gar & T B T B |

(©  wr war Ld/ T 8§ Fg
\
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24.

25

ey YD .:Z,l“«jlf:'dfdk"’(‘.*r’-
¥z Loy (a)
bl ()
-(4‘_//.'/. (c)

tﬁ} L;!(c— e Cf
The revolution of Earth causes |
(@) Days and nights (b) Seasons
(c) Natural disasters (d) Thunder and lightening

gt & aREEer (Revolution) & grarad 24

@ RTRw (b) =1 drem
(c) urpfres smaaT ,(d{ feotelt it arew & =
-‘Cah(,’ K ....................... (REVOlUthﬂ)té/‘E Ku:)
(’r‘ (b) el (a)
LIS AEE  (d) 26735 (0
Dust storms are common in
(@) Mountains (b) Plains
(c) Deserts (d) Coastal area
——————— @ @I 3Tt 3T
(@) ueEr W (b) Wi A
() e / i TRt
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e ek Tt
(il (a)
Sl (b)
vl (o)

SuIL ez (d)

26. Which way do the longitude lines run on our planet?

(a) Eastto west (b) East to south
(©) North to south (d) North to west
BIR TE W QR @M e i aadt €7
@ & <. TR
(c) T H f{yor (d) "SR & i
S ALE) VAP AN P

—#eU7 (b)

27.  The constitution of India prepared under the leaderships of

?J{.’C'_—J/‘ (a)

(a) Mahatma Gandhi (b) Subhash Chandra Bose

(c) Jawahar lal Nehru (d) BabaSaheb Ambedkar
F A9 H 9RT H AU TR §IAT |

(a) g ey (b) T <

(c) My @ Aww HC i sersa

e —
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28.

29.

el TH
Givuly  (a)
SAszSe (b)
iz (0

/j_.,wl._,)l.atlf (d)

Hottest planet in solar system is

(a) Mercury (b) Venus
(¢) Mars (d) Earth
TR HREYSA & qE9 T T§ ——— 2l
(@ = () w T
CHELEC GO |
N - Rme— ] 77 S Ku’&?uru';m
(Venus)szs (b) (Mercury)ls  (a)
(Barth)c2s  (d) (Mars)G (0)
Sunita Williams hairs kept standing in space because of ”
(@) No gravity (b) Gravity
(c) Rotation (d) Air
& BT G ffeEm & T ARy ¥ @3 ® T
/ TEATHYT 7 B (b) TE@THY
(c) =& (d) am
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30. Whatis the capital of Sikkim?

(@) Panaji (b)
(c) Gandhinagar (d)
Frfeee 1 Tore T B2

Js (b
S (@
31. How mosquito find human body?

(@) By smell of our body

(b) By heat of our body

(©) By smell of sole of our feet

(d)  All of these
T ———

s “J"‘/ (a)
Lm}{jﬂ (b)
J)de.‘.'J (o)

Iyz (d)

Dispur

G

?gkfu:gbwrt
gt (a)
£ (©
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TRt A 9T g B
(a) EAm g @ MY A

(b) wamt gréiw @t wit A
(€ om ¥ & qad & T

oA
(a)
(b)
e il usesa (O
& @
32. Whatis the ython?
(a) 18hrs (b) 3hrs
() 36 (d) 24hrs
IR &
(2 182 (b) 3w
(c) 368 (d) 248
S Yeallrl (L)
3 (b) 18 (2
24 (d) 36 (0
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33. Where is Jim Corbett National Park and Ghana bird sa{nctuary situated?

(a) Rajasthan and Uttrakhand
(b) Uttrakhand and Rajasthan
(c) Jharkhand and Rajasthan

(d)' Uttrakhand and Madhya Pradesh

T Frde U ST SR g waft orvamen @t fag &2

eSS, B T2
L7ge=2u (a)
G151 (b)
V=2l ()

U?'J{ .;unll”f!}i (d)

34. The poisionous teeth of snake is called.

(a) Fang (b) Sangs

() rangs (d) None of these

SRR ) (Y

(a) (b) &

(©) ¥ %/ M ¥ B TE
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-LJ.?Z‘{ ................ ’(u;;l)é—/fjib?jt/

& (a)
L (b)
&, (o)

St (@
35.  Which dance form have movements similar to snake movements.
(a) Bharat Natyam
(b) Kathak
(c) Kalbeliya
(d) None of these

e 3 A | |iw @ fa HEAE TR Bt 5

Loy v b) wo
Gl (@ saﬁté -
e b 7L At P
& (b ftef ()
St (@) g (0

36. Why snakes are friends to farmers?
(a) They eatrats.
(b) They eatcrops.
(c) They eatinsects.
(d) Allofthese
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i et & e a9 B ¥e

(@) a8 gEr @ )
(b) a& wEw @ |
(c) a8 @k @m &)
e = ¥
?ugz_nu[c/,,éuiu’_{'v
-Q‘?LV(‘LY,M (a)
R Y-, o
-%LUZ_J,Q_;.C, (o)
drc_(ﬂ o (d)
37.  Which solution is given whén a person has vomiting and loose motions?
(@) ORS
(b)  Fruit Juice
(o) Milk

(d) Icecream

fobelt aferr @t Iwt 3R @& (Loose motion) 21 g @A Hir far s &7

(@) ORS M7 i T
©) gu (d) smsEmm
e t‘lg&)(d}f)d’t/uf;nwwllffif‘;z
JREUK  (b) ORS (a)
ST @ sm (&
—_ .
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38. What is the muscular bag of digestive system called?
(a) Liver (b) Intestine
(¢) Stomach (d) Food pipe
qraqas Bt Tefrr St Fr e 87
(@) I (b) ama
(c) 3mTeT /cd')/ WA= el
"u_?igfg/b:,ﬁfuﬁ/l,(lb
=7 (b) (a)
5z (@ ©
39. Which nutrients give us energy to do work?
(a) Fats and carbohydrates (b) _ Protein
() Vitamin and minerals (d) Al of these

FT-9T GISF qF &5 Hd ST B 7 St ol o7

(@) a4 AR _FEEERE M
(c) farfam @ w=@r T & o

e QSR LI Skt
Lo VL KnOE ()

d5’4 (b)

Josts (o)

Sty (d)
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40.  How much time is required to prepare the 'Mamidi Tandra"?
(@) 4 weeks

(b) 6 weeks
(©) 9 weeks
(d) 12 weeks

aE de A A R e e &
@ 4 waE
(b) 6 wwmw®
(€) 9 wE

(d) 12 g<mE

IS YA,
=4 (a)
=6 (b)
=9 (o)

=12 (d)

41. Which bacteria is found in curd?

(@) Lactobacillus (b) Lacto humus
(¢) Tartaric (d) Al of these
el T -8 SHaT] AT A 8

(@) At (b) R e
(©) orefis @ T &
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42. Potatoes and tomatoes came from which country?

(a) North America
(c) South America

T 3R AT oy 391 & M &2
(@) Tl R
1€) R R

(b) China

(d) Europe

(b)
(d) “agw

43.  Which part of the plant carries water?

(@) Phloem
(b) Xylem
(c) Bark

(d) All of these

S )
¥ ()
St (©
ey (@D

€& & T MU T
Lo0¢ (a)

& (b)

L85 (0

qu/{' (d)
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dreif 7 @Y-ar wmr o aar B

(@) ey
(b) wmdew
() wm@
(d) w83 ah

e bl 3y bk sy

AF ()

sﬁu (b)

Je (©

FLu (@

44.  Why should we do rain wate
(a) Tomake use of rai
(b) To store rai
(c) Toi ground water level.
(d) Allof
B9 IuT A WA I HEAT AR
(@) aufera #t IuFrT w3 forg
(b) aufere owr & & forg
() uorr & &aE Gg & fou
(d) =z & weft

——
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"z b3S Sirin 23S QLI
LLIHLW LI (@
LLE G (b)
2Lt (©
(ff::.u:u’ (d)
45. Process of making food by plants is called.
(@) Electro synthesis
(b) Photosynthesis

(¢) Thermo synthesis

(d) chemosynthesis

et ZRT AT ST BT GEHAT B Hed &7
(@) g W
(b) waTT HrAwT
(c) T HIASET
(d) TEmET FIAge
Y- A— /sz:i_&.ﬂ/}.gu'z:u”,:

(Electro Synthesis)it 32 ()
(Photo Synthesis) ity (b)
(Thermo Synthesis)i/te.l”  (¢)

(ChemoSynthesis).JJrJy{ (d)
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46. Malaria is caused by the bite of

()
(b)
(c)
(d)

Female Anopheles mosquito
House fly
Bacteria

Hone bee

TaRar fras Frew &/ Bar &2

(a)
(b)

47. Which is the highest peak of the wdirld?

(@)

HIRT TAheiT Jest
LG REEC]

K2

(¢) Andes
fagT @ gag S 9 B A B2

(a)

(c)

————

K2

TUSIT

?9. bve 2 KL

/{Lﬁ";:lul.

Nanda Devi

Mount Everest

EH G
S TaRE

Hs
L5

L &
G
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48.

49.

e s bz A

o (b) K2 (a)
2Lessl (d) zx) (o)

What does hemoglobin carries in our blood?
(a) Carbon monoxide

(b) Oxygen

(c) Nitrogen

(d) Carbon dioxide

SR FR T T A S 82
(a) o AT SiferTES
(b) sitaRie
(c) g
(d) ST SiferEs
e bbd YU he dagib
T () STk (a)
ST (D Gt (O

The instrument used for measuring earthquake on Richter Scale is:

(a) Barometer (b) Seismograph

(c) Ammeter (d) Voltameter

CODE No. S06/SET-A (30)



T H Reet @ WA B o gw@m fhar i A w3
(@) IR (b) s
() i (d) awer drex
e ST n 12 L F$L i S,

SS (b) Hyz (a)
Aty (d). 7 (o)
50. Name the Force by which earth pulls everything towardsit centre.
(a) Horse power (b) Gravitational force
(c) Density (d) Specific gravity
T€ 90 rEs & 9= T0F 5 B I B bl S @il ¢ |
(a) oty g
(b) R T
(c) =3
(d) ffre g
-+k"fi{5/’tf7}é—’!5;%ﬂuﬁia’/5£uﬁ~:~;v’
sl ox ()
FF o
=0 (0
W (d)
e coniais
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51,

52,

Mathematics

One hundred lakh is called a

(a) tencrore (b) crore
(c) tenthousand (d) tenlakh
| @@ B |
(@) @& (b) =
(c) T@&R (d) =g @
Kby
S (b) wip (a)
sun (d) Arn (0
If the speed of a boat is 20 kifiin an hour. How much time will it take to go 75
km?
3 1
(@) 374 hours (b) 372 hours
1 1
(c) 472 hours | (d) 52 hours
aft e A LA TH 62 F 20 f5l & @t a5 75 el S A fha wwa ot
@ 5o b) 35 @
1 1
c) 45 ® (d) 55 =
oL b 75 kmes Ik 20 k2810501
1 .
2435 (b) 237 ()
1 1

—
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54.

—
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How many sides have a a hexagon?

(@ 5 (b) 4
() 6 d) 7
v A frael st A ¥
@@ 5 (b) 4
(c) 6 (d) 7
St LI EL( A7) u

4 (b) (a)

7 (d) (©)
If the price of 1 kg of carrot is Rs. 18. What is the p g of carrot?

(@ Rs.36
(b) Rs.24
(¢) Rs.27
(d) Rs.22.50

afe 1 fkamo R
(a) Rs.36
(b) Rs.24
(©) Rs.27
d) Rs.22.50

1
17 fRao TIoR B iva 4 &l

- 1 “
e fnfed S2808 1 e or18ed 205 0
Rs.24 (b) Rs.36 (a)

Rs.22.50 (d) Rs.27 (c)




55. How many triangles have a given figure?

\\

(@ 8 (b) 7
() 6 (d 5
T gl & fraw By B2

@ 8
(o 6
E el ST
6 7 (b) 8 ()
5 (d) 6 (o
56. Write the smallest commoh multiple of 4, 5 and 6.
@ 36 (b) 60
() 24 (d) 40
4, 5, 6 FT GEY VI AT OIS FT &7
(a) 36 (b) 60
(c) 24 (d) 40
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58.

—

60 (b)
40 (d)
The value of (9876 - 4) + 8 is
(@ 1231 (b)
(c) 1235 (d)
(9876 — 4) + 8 7 [ -
(@) 1231 (b)
(c) 1235 (d)
1234 (b)
12320 (d)
The normal temperature’®f human body is
(@) 98.6°F (b)
(c) 102°F (d)
TMT TR T WERT A0 &
(a) 98.6°F (b)
() 102°F (d)
100°F (b)
95°F (d)

?9%(?/}»(7}“’%’&%(6, 5,4

36 (a)
24 (¢)
1234
1232
1234
1232

~e =i (9876 - 4) +8

1231 (a)

1235 (c)
100°F
95°F
100°F
95°F

-‘ac«ﬂ/gu;btgf)'éuf

98.6°F (a)

102°F (¢
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59,

60.

The length of a boundary of a closed figure is called
(a) Perimeter (b) Area
(c) Breadth (d) Length

TEH & MG B AT &t FA =g HEAT B2

(@) R (b) AFwa
(c) +heid (d) w=ré
—< dU SIS Co s 23S Pt
2, (b) bl (@)
U (@) diig (o

If 100 one rupee coins weigh485 g, théfithow much will 10000 coins weigh?
(@) 54kg500g (b) 27kg250¢g
(c) 48kg500g (d) 36kg
AR 100 UH BGH B [HEP HT a9T 485 AM & A 10,000 Ryt w1 a9 T EM?
(a) 54kg500¢g (b) 27kg250g
(c) 48kg500g (d) 36kg

6960 £10,0007485 gm WK LL 2 Li4100.]

27 kg250g (b) 54kg500g (a)

36kg (d) 48kg500g (¢

CODE No. S06/SET-A (36)



61. 418 people are watching a movie in a hall. If the hall has 22 rows. How many
people can sit in 1 row?
(@ 21 (b) 24
() 26 (d) 19
IR TH B F 418 W0 @ 2@ @ ¥ vd ek F 02 whkat ¥ ) o of F P wm
ECRSE
(@) 21 (b) 24
() 26 d) 19
St s L BTz 5 2208 Jiiog e s I a18 U]
24 (b) 21 (a)
19 @ 26 (c)
62. The space occupied by‘any object iscalled
(a) volume (b) area
(c) perimeter (d) density
forelt awg &m0 foiT Q. we @ er ST 2 |
(a) s (b) &
(c) ufwma (d) =
- QWL S ndSzs”
3 (b A @
= (d) St (o)
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63.

64.

65.

_Find the greatest number which divides 54 and 72 .
(@) 16 (b) 18
(c) 24 (d) 27
HIE T8 W@ A 54 TG 72 P fenfore et B

@ 16 (b) 18
(c) 24 (d) 27
e e 2BMSA R e
18 (b) 16 (a)
27 (d) 24 (¢)

The number which is neither prime nor compositesis

(@ 2 (b)m 3

(© 1 d 6

T @ S T @ M 5. 31K 1 8 Bl )

(@ 2 (b) 3

() 1 d) 6

- -.f'//d‘.’u"(?‘_ ( Iy 97 s

3 (b) 2 (a)
6 (d) 1 (o)

Simplify 50 + 5 + 6 X 11 - 21

(@ 39 (b) 45

(o) 52 (d) 55
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FAB-50 + 5+ 6 X 11 - 91

(@ 39 (b) 45
(c) 52 (d) 55
e edd50+54+6x11-21
45 (b) 39 (a)
55 (d) 52 (c)
66. The Hindu-Arabic form for MCD is
(@) 1400 (b) 1600
(c) 1900 (d) 1800
MCD &7 fog oret wq &
(@) 1400 (b) 1600
(©) 1900 (d) 1800
-« FU A MCD
1600 (b) 1400 (a)
1800 (d) 1900 (c)
67. HCF of two consecutive numbers is always:
(@) 2 (b) 3
() 1 (d o0
& TAR gEArst & weww gaads (HCF) sdar aar
(@ 2 (b) 3
© 1 d ©
P.T.O.
\
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3 (b)

0 (d)

68. How many one third in 9.

(a) 18
(¢) 15

9 ¥ fra uw fovers 27

(@) 18
(c0 15

69. The product of 6.

(b)
(d)

(b)

-& t‘n.")..‘?HCF(u’ﬁ}f'P»
2 (a)
1 (¢

27

(@ 28 (b) 2814
(c) 28 (d) 2814
6.7 X 4.2 & z |
(a) 2814 (b) 281.4
(c) 2814 (d) 2814
- K67 x 4.2
2814 (b) 28.14 (a)
2814 (d) 2814 (¢)

CODE No. S06/SET-A
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70. When three or more than three points are not on the same line, they are called.
(@) collinear point (b) non-collinear point
(c) polygon (d) none
mﬁ#m&%%@ﬁ@waﬁﬁ%%ﬁﬁm%
(@) wEE fag (b) srETEl fag
() =@ (d) 3z = T
- LU T 166 g\ S
(B2 (2
GEHR S o
Sus 2 (o)
St (@)
71.  Aregular polygon with three sides is called:
(a) Right angle triangle
(b) Equilateral triangle
(c) Obtuse angle triangle
(d) None of these
3 YreT AT Ueh Frafiia g @ wed B
(@) wwefT By
(b) wwETE Py
(c) iftrs ot Brger
(d) = & g T P.T.0.
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72.

73,

—e bl 12 (Regular)s s 6L LId1s(Side)E ol
L2z (a)

L weigs-  (b)

Lo (c)

u.f‘}éfc.,gj:u’ (d)

How many zero's are in one hundred lakh?
@ 7 (b) 6
(¢ 13 (d 8
TF @@ | B g B ¥
(@ 7 (b)* 6
(c) 13 (d) 8
L n o S Uy S
6 (b) 7 (a)
8 (d) 13 (c)
If cost pricelof a watch is Rs. 1500 and selling price is Rs. 1800 then loss or
profit is:
(@) LossRs.300 (b) ProfitRs. 300
(c) ProfitRs. 1500 (d) LossRs. 500

afe fRdl 731 &1 %9 g Fo 1500 & U fhg 97 Ho 1800 ¥ & @ a1 &Y Enfi-

(@) ®o 300 I B (b) w0 300 T @AY

(c) ®o 1500 & @9 (d) ®o 500 @ &
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-b’ng&uhﬁk‘;z’_u1800.;2&:)1;@.:11500@?*_70,6}*0’7!

UK Rs. 300 (a)
Z¥Rs.300 (b)
c‘fb’Rs.lsoo (c)

UWIERs. 500 (d)
74. Only prime number which is an even also.

@ 3 (b) 5
© 2 @ 11

TE T AT W q9 G off T
@ 3 (b)
(© 2 (d)

PRS- Ty
3 @
Z2 (0
75. 25% of an hou
(a) 20 Minutes (b) 15 Minutes
(c) 10 Minutes (d) 30 Minutes
Teh 9 T 25% BN |
(a) 20 forFe (b) 15 e
(©) 10 fme (d) 30 frme
o P.T.O.
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76.

77

_6n25%K24 L]

<15 (b) 20
<30 (d) 2410
ENGLISH

Choose the correct pair of gender noun.

(@) sir-lady

(b) lord-mother

(c) horse-mare

(d) hen-chick

Choose the correct pair of singular and plural noun.
(@) box-boxs

(b) fish-fish

(c) bench-bench

(d) bus-busess

78. Swamiis strongest player in his team.
(a) an (b) this
(c) the ' (d a

79. Choose the odd one out.
(a) excited (b) frightened
(c) afraid (d) scared

80. Choose the odd one out.
(a) brave (b) fearless
(c) unafraid (d) unhappy

(a)

(c)

CODE No. S06/ SET-A ‘ (44)



81. Choose the correct synonym for the underlined word.
Your answer is inappropriate
(@) incorrect
(b) perfect
(¢) correct
(d) amazing
82.  Choose the correct synonym for the underlined word.
Please allow me to enter.
(@) stop
(b) permit
(c) talk
(d) show
83. Thave beenworking & morning.
(@) for (b) unless
(c) since (d) from
84. The girl is standing the door.
(@) for (b) in
(c) above (d) at
85. Ilike rain butI thunderstorms.
(@) dislike
(b) unlike
(c) non-like
—__(d) None of the above
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g86. Henry has been unwell. Please give some medicine.

(a) his
(b) him
(¢) her
d) it
87.  You paint so beautifully. Is this painting ?
(@) mine
(b) ours
(c) theirs
(d) yours
88. We were upset we decided to be quiet.
(@) as (b) " but
(c) so (d) because

89. Iremember to bring the camera I forgot the batteries.
(@) or (b) but
(c) so (d) if

90. Choose the correct antonym of the word given in brackets.

The floor is (clean) and needs to be washed.

(a) smooth

(b) shiny
(c) dirty
(d) rough
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91.
The loudspeakers in my town are very (quiet)
(@) compose
(b) calm
(¢)  pleasant
(d) noisy

92.  Heusually rice and dal for lunch.
(@) cooks
(b) cook
(©) is cooking
(d) cooking

93. Diya and Prachij -
(@) gone (b) are going
(o) is goin (d) going

94, Yesterday, I y friends at school.
(@) meet (b) meets
(©) met (d) meeting

95. My father to the hospital last night.
@ go (b) gone
(©) goes (d) went .

S E.T.Q,
COpg No. S06 /SET-A (47)

Choose the correct antonym of the word given in brackets.




96.

97.

98.

99.

100.

Tick the correct spelling:

(@) Requere (b) Require
(©)  Requir (d) Regiure

"Mrs. Sharma wanted to take her class to the zoo in the bus.”
Identify the collective Noun in the sentence.

(@) Zoo (b) Mrs.Sharma

(c) Class (d) Bus

The synonym of the word "Acquired is:

(@) Forgot (b) Lost

(c) Cancelled (d) Obtained

The antonym of "Blunt" is:

(@) Soft (b) Cold

(c) Sharp (d) ¢Hard

Identify the kind of tensefor the following sentence.

"The girl was writing a letter."
(a) Presentperfect continuous
(b) Past perfect continuous

(c) Past continuous

(d) Present continuous
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